Creating a Mitigated Offer Curve Cap from a Marginal Heat Rate Curve that is not Monotonically Increasing


Mitigated Offer Curve Cap Rectification Method 1 (dark blue)
Take the largest marginal heat rate value from the resource’s marginal heat rate curve and use this cap value for all MW values of that Resource; or, use the Protocol specified value of 10.5 or 14.5 if the marginal heat rate curve never exceeds that value.
MOC(x) = Max[Max(MarginalheatRate(x)), Protocol-Specified Comparison Heat Rate]
LOL<x<HOL
Mitigated Offer Curve Cap Rectification Method 2 (light blue)
Take the marginal heat rate value at the Low Operating Limit of the Resource, and use this cap value for all MW values higher than the Low Operating Limit until the mitigated cap by Protocol exceeds this value.
MOC(x) = Max[MarginalheatRate(LOL), MarginalheatRate(x), Protocol-Specified Comparison Heat Rate]
LOL<x<HOL
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